

Mohamed Afwat

Congruences of surfaces in  $\mathbb{C}^2$

Časopis pro pěstování matematiky, Vol. 101 (1976), No. 4, 393--400

Persistent URL: <http://dml.cz/dmlcz/117925>

## Terms of use:

© Institute of Mathematics AS CR, 1976

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

CONGRUENCES OF SURFACES IN  $\mathbb{C}^2$

M. AFWAT, Cairo

(Received January 19, 1976)

A. ŠVEC [1] studied transitive layers of hypersurfaces in  $\mathbb{C}^2$ ; in what follows, I am going to describe transitive two-parametric systems of surfaces in  $\mathbb{C}^2$ .

As usually, let us write  $\mathbb{C}^2 = (\mathbb{R}^4, J)$ ,  $J: \mathbb{R}^4 \rightarrow \mathbb{R}^4$  being the endomorphism satisfying  $J^2 = -\text{id}$  and defined by  $J(v) = iv$ . In  $\mathbb{C}^2 = (\mathbb{R}^4, J)$ , consider a congruence, i.e. a 2-parametric system of 2-dimensional surfaces  $\mathcal{L}$  such that through each point  $m \in \mathbb{R}^4$  there passes exactly one surface  $V^2 \in \mathcal{L}$ . Let  $T_m(V^2)$  be the tangent plane of  $V^2$  at  $m$ ; in what follows, we restrict ourselves to congruences  $\mathcal{L}$  such that

$$(1) \quad T_m(V_m^2) \cap J T_m(V_m^2) = \{0\}$$

for each point  $m \in \mathbb{R}^4$ . At each point  $m \in \mathbb{R}^4$ , let us choose a frame  $\{v_1, v_2, v_3, v_4\}$  such that

$$(2) \quad v_1, v_2 \in T_m(V_m^2), \quad v_3 = Jv_1, \quad v_4 = Jv_2.$$

Choosing another frames  $\{w_1, w_2, w_3, w_4\}$  satisfying equations analogous to (2), we have

$$(3) \quad \begin{aligned} w_1 &= \alpha v_1 + \beta v_2, & w_2 &= \gamma v_1 + \delta v_2, \\ w_3 &= \alpha v_3 + \beta v_4, & w_4 &= \gamma v_3 + \delta v_4, \\ & & \alpha\delta - \beta\gamma &\neq 0. \end{aligned}$$

Thus the congruence  $\mathcal{L}$  induces on  $\mathbb{R}^4$  a  $G$ -structure, being given by (3).

Let us write

$$(4) \quad \begin{aligned} [v_1, v_2] &= a_1 v_1 + a_2 v_2, \\ [v_1, v_3] &= b_1 v_1 + b_2 v_2 + b_3 v_3 + b_4 v_4, \\ [v_1, v_4] &= c_1 v_1 + c_2 v_2 + c_3 v_3 + c_4 v_4, \\ [v_2, v_3] &= d_1 v_1 + d_2 v_2 + d_3 v_3 + d_4 v_4, \\ [v_2, v_4] &= e_1 v_1 + e_2 v_2 + e_3 v_3 + e_4 v_4, \\ [v_3, v_4] &= f_1 v_1 + f_2 v_2 + f_3 v_3 + f_4 v_4. \end{aligned}$$

From the Jacobi identities

$$(5) \quad [v_i, [v_j, v_k]] + [v_j, [v_k, v_i]] + [v_k, [v_i, v_j]] = 0;$$

$$i, j, k = 1, \dots, 4;$$

we get

$$(6) \quad v_1 d_1 + d_2 a_1 + d_3 b_1 + d_4 c_1 - v_2 b_1 - b_3 d_1 - b_4 e_1 + v_3 a_1 - a_2 d_1 = 0,$$

$$v_1 d_2 + d_3 b_2 + d_4 c_2 - v_2 b_2 + b_1 a_2 - b_3 d_2 - b_4 e_2 + v_3 a_2 - a_1 b_2 = 0,$$

$$v_1 d_3 + d_4 c_3 - v_2 b_3 - b_4 e_3 - a_1 b_3 - a_2 d_3 = 0,$$

$$v_1 d_4 + d_3 b_4 + d_4 c_4 - v_2 b_4 - b_3 d_4 - b_4 e_4 - a_1 b_4 - a_2 d_4 = 0;$$

$$(7) \quad v_1 e_1 + e_2 a_1 + e_3 b_1 + e_4 c_1 - v_2 c_1 - c_3 d_1 - c_4 e_1 + v_4 a_1 - a_2 e_1 = 0,$$

$$v_1 e_2 + e_3 b_2 + e_4 c_2 - v_2 c_2 + c_1 a_2 - c_3 d_2 - c_4 e_2 + v_4 a_2 - a_1 c_2 = 0,$$

$$v_1 e_3 + e_3 b_3 + e_4 c_3 - v_2 c_3 - c_3 d_3 - c_4 e_3 - a_1 c_3 - a_2 e_3 = 0,$$

$$v_1 e_4 + e_3 b_4 - v_2 c_4 - c_3 d_4 - a_1 c_4 - a_2 e_4 = 0;$$

$$(8) \quad v_1 f_1 + f_2 a_1 + f_3 b_1 + f_4 c_1 - v_3 c_1 + c_2 d_1 - c_4 f_1 + v_4 b_1 - b_2 e_1 -$$

$$- b_3 f_1 = 0,$$

$$v_1 f_2 + f_2 a_2 + f_3 b_2 + f_4 c_2 - v_3 c_2 + c_1 b_2 + c_2 d_2 - c_4 f_2 + v_4 b_2 -$$

$$- b_1 c_2 - b_2 e_2 - b_3 f_2 = 0,$$

$$v_1 f_3 + f_4 c_3 + c_1 b_3 + c_2 d_3 - c_4 f_3 + v_4 b_3 - b_1 c_3 - b_2 e_3 - v_3 c_3 = 0,$$

$$v_1 f_4 + f_3 b_4 - v_3 c_4 + c_1 b_4 + c_2 d_4 + v_4 b_4 - b_1 c_4 - b_2 e_4 - b_3 f_4 = 0;$$

$$(9) \quad v_2 f_1 - f_1 a_1 + f_3 d_1 + f_4 e_1 - v_3 e_1 + e_1 b_1 + e_2 d_1 - e_4 f_1 + v_4 d_1 -$$

$$- d_1 c_1 - d_2 e_1 - d_3 f_1 = 0,$$

$$v_2 f_2 - f_1 a_2 + f_3 d_2 + f_4 e_2 - v_3 e_2 + e_1 b_2 - e_4 f_2 + v_4 d_2 - d_1 c_2 -$$

$$- d_3 f_2 = 0,$$

$$v_2 f_3 + f_4 e_3 - v_3 e_3 + e_1 b_3 + e_2 d_3 - e_4 f_3 + v_4 d_3 - d_1 c_3 - d_2 e_3 = 0,$$

$$v_2 f_4 + f_3 d_4 - v_3 e_4 + e_1 b_4 + e_2 d_4 + v_4 d_4 - d_1 c_4 - d_2 e_4 - d_3 e_3 = 0.$$

Analogously, we have

$$(10) \quad [w_1, w_2] = A_1 w_1 + A_2 w_2,$$

$$[w_1, w_3] = B_1 w_1 + B_2 w_2 + B_3 w_3 + B_4 w_4,$$

$$[w_1, w_4] = C_1 w_1 + C_2 w_2 + C_3 w_3 + C_4 w_4,$$

$$[w_2, w_3] = D_1 w_1 + D_2 w_2 + D_3 w_3 + D_4 w_4,$$

$$[w_2, w_4] = E_1 w_1 + E_2 w_2 + E_3 w_3 + E_4 w_4,$$

$$[w_3, w_4] = F_1 w_1 + F_2 w_2 + F_3 w_3 + F_4 w_4$$

with the integrability conditions

$$(11) \quad \begin{aligned} & w_1 D_1 + D_2 A_2 + D_3 B_1 + D_4 C_1 - w_2 B_1 - B_3 D_1 - B_4 E_1 + w_3 A_1 - \\ & - A_2 D_1 = 0, \\ & w_1 D_2 + D_3 B_2 + D_4 C_2 - w_2 B_2 + B_1 A_2 - B_3 D_2 - B_4 E_2 + w_3 A_2 - \\ & - A_1 B_2 = 0, \\ & w_1 D_3 + D_4 C_3 - w_3 B_3 - B_4 E_3 - A_1 B_3 - A_2 D_3 = 0, \\ & w_1 D_4 + D_3 B_4 + D_4 C_4 - w_2 B_4 - B_3 D_4 - B_4 E_4 + A_1 B_4 - A_2 D_4 = 0, \\ & w_1 E_1 + E_2 A_1 + E_3 B_1 + E_4 C_1 - w_2 C_1 - C_3 D_1 - C_4 E_1 + \\ & + w_4 A_1 - A_2 E_1 = 0, \\ & w_1 E_2 + E_3 B_2 + E_4 C_2 - w_2 C_2 + C_1 A_2 - C_3 D_2 - C_4 E_2 + \\ & + w_4 A_2 - A_1 C_2 = 0, \\ & w_1 E_3 + E_3 B_3 + E_4 C_3 - w_2 C_3 - C_3 D_3 - C_4 E_3 - A_1 C_3 - A_2 C_3 = 0, \\ & w_1 E_4 + E_3 B_4 + E_4 C_4 - w_2 C_4 - C_3 D_4 - C_4 E_4 - A_1 C_4 - A_2 C_4 = 0, \\ & w_1 F_1 + F_2 A_1 + F_3 B_1 + F_4 C_1 - w_3 C_1 + C_2 D_1 - C_4 F_1 + \\ & + w_4 B_1 - B_2 E_1 - B_3 F_1 = 0, \\ & w_1 F_2 + F_2 A_2 + F_3 B_2 + F_4 C_2 - w_3 C_2 + C_2 D_2 - C_4 F_2 + \\ & + C_1 B_2 + w_4 B_2 - B_1 C_2 - B_2 E_2 - B_3 F_2 = 0, \\ & w_1 F_3 + F_4 C_3 + C_1 B_3 + C_2 D_3 - C_4 F_3 + w_4 B_3 - B_1 C_3 - B_2 E_3 - \\ & - w_3 C_3 = 0, \\ & w_1 F_4 + F_3 B_4 - w_3 C_4 + C_1 B_4 + C_2 D_4 + w_4 B_4 - B_1 C_4 - \\ & - B_2 E_4 - B_3 E_4 = 0, \\ & w_2 F_1 - F_1 A_1 + F_3 D_1 + F_4 E_1 - w_3 E_1 + E_1 B_1 + E_2 D_1 - E_4 F_1 + \\ & + w_4 D_1 - D_1 C_1 - D_2 E_1 - D_3 F_1 = 0, \\ & w_2 F_2 - F_1 A_2 + F_3 D_2 + F_4 E_2 - w_3 E_2 + E_1 B_2 - E_4 E_2 + \\ & + w_4 D_2 - D_1 C_2 - D_3 F_2 = 0, \end{aligned}$$

$$w_2F_3 + F_4E_3 - V_3E_3 + E_1B_3 + E_2D_3 - E_4F_3 + V_4D_3 - \\ - D_1C_3 - D_2E_3 = 0,$$

$$w_2F_4 + F_3D_4 - w_3E_4 + E_1B_4 + E_2D_4 + w_4D_4 - D_1C_4 - \\ - D_2E_4 - D_3F_3 = 0.$$

Comparing (4) with (10), we get

$$(12) \quad [w_1, w_2] = [\alpha v_1 + \beta v_2, \gamma v_1 + \delta v_2] = w_1\gamma \cdot v_1 + w_2\delta \cdot v_2 - w_2\alpha \cdot v_1 - \\ - w_2\beta \cdot v_2 - \gamma\beta(a_1v_1 + a_2v_2) + \alpha\delta(a_1v_1 + a_2v_2) = \\ = A_1w_1 + A_2w_2 = A_1(\alpha v_1 + \beta v_2) + A_2(\gamma v_1 + \delta v_2),$$

$$(13) \quad [w_1, w_3] = [\alpha v_1 + \beta v_2, \alpha v_3 + \beta v_4] = w_1\alpha \cdot v_3 + w_1\beta \cdot v_4 + \\ + \alpha^2(b_1v_1 + b_2v_2 + b_3v_3 + b_4v_4) + \alpha\beta(d_1v_1 + d_2v_2 + \\ + d_3v_3 + d_4v_4) + \beta\alpha(c_1v_1 + c_2v_2 + c_3v_3 + c_4v_4) + \\ + \beta^2(e_1v_1 + e_2v_2 + e_3v_3 + e_4v_4) - w_3\alpha \cdot v_1 - w_3\beta \cdot v_2 = \\ = B_1w_1 + B_2w_2 + B_3w_3 + B_4w_4 = B_1(\alpha v_1 + \beta v_2) + \\ + B_2(\gamma v_1 + \delta v_2) + B_3(\alpha v_3 + \beta v_4) + B_4(\gamma v_3 + \delta v_4),$$

$$(14) \quad [w_1, w_4] = [\alpha v_1 + \beta v_2, \gamma v_3 + \delta v_4] = w_1\gamma \cdot v_3 + w_1\delta \cdot v_4 + \\ + \alpha\gamma(b_1v_1 + b_2v_2 + b_3v_3 + b_4v_4) + \beta\gamma(d_1v_1 + d_2v_2 + \\ + d_3v_3 + d_4v_4) - w_4\alpha \cdot v_1 - w_4\beta \cdot v_2 + \alpha\delta(c_1v_1 + c_2v_2 + \\ + c_3v_3 + c_4v_4) + \beta\delta(e_1v_1 + e_2v_2 + e_3v_3 + e_4v_4) = \\ = C_1w_1 + C_2w_2 + C_3w_3 + C_4w_4 = C_1(\alpha v_1 + \beta v_2) + \\ + C_2(\gamma v_1 + \delta v_2) + C_3(\alpha v_3 + \beta v_4) + C_4(\gamma v_3 + \delta v_4),$$

$$(15) \quad [w_2, w_3] = [\gamma v_1 + \delta v_2, \alpha v_3 + \beta v_4] = w_2\alpha \cdot v_3 + w_2\beta \cdot v_4 + \\ + \alpha\gamma(b_1v_1 + b_2v_2 + b_3v_3 + b_4v_4) + \alpha\delta(d_1v_1 + d_2v_2 + \\ + d_3v_3 + d_4v_4) - w_3\delta \cdot v_2 + \beta\gamma(c_1v_1 + c_2v_2 + c_3v_3 + \\ + c_4v_4) + \beta\delta(e_1v_1 + e_2v_2 + e_3v_3 + e_4v_4) = D_1w_1 + \\ + D_2w_2 + D_3w_3 + D_4w_4 = D_1(\alpha v_1 + \beta v_2) + \\ + D_2(\gamma v_1 + \delta v_2) + D_3(\alpha v_3 + \beta v_4) + D_4(\gamma v_3 + \delta v_4),$$

$$\begin{aligned}
(16) \quad [w_2, w_4] &= [\gamma v_1 + \delta v_2, \gamma v_3 + \delta v_4] = w_2 \gamma \cdot v_3 + w_2 \delta \cdot v_4 + \\
&+ \gamma^2(b_1 v_1 + b_2 v_2 + b_3 v_3 + b_4 v_4) + \gamma \delta(d_1 v_1 + d_2 v_2 + \\
&+ d_3 v_3 + d_4 v_4) + \gamma \delta(c_1 v_1 + c_2 v_2 + c_3 v_3 + c_4 v_4) + \\
&+ \delta^2(e_1 v_1 + e_2 v_2 + e_3 v_3 + e_4 v_4) - w_4 \gamma \cdot v_1 - w_4 \delta \cdot v_2 = \\
&= E_1 w_1 + E_2 w_2 + E_3 w_3 + E_4 w_4 = E_1(\alpha v_1 + \beta v_2) + \\
&+ E_2(\gamma v_1 + \delta v_2) + E_3(\alpha v_3 + \beta v_4) + E_4(\gamma v_3 + \delta v_4),
\end{aligned}$$

$$\begin{aligned}
(17) \quad [w_3, w_4] &= [\alpha v_3 + \beta v_4, \gamma v_3 + \delta v_4] = w_3 \gamma \cdot v_3 + w_3 \delta \cdot v_4 - \\
&- \gamma \beta(f_1 v_1 + f_2 v_2 + f_3 v_3 + f_4 v_4) + \alpha \delta(f_1 v_1 + f_2 v_2 + \\
&+ f_3 v_3 + f_4 v_4) - w_4 \alpha \cdot v_3 - w_4 \beta \cdot v_4 = F_1 w_1 + F_2 w_2 + \\
&+ F_3 w_3 + F_4 w_4 = F_1(\alpha v_1 + \beta v_2) + F_2(\gamma v_1 + \delta v_2) + \\
&+ F_3(\alpha v_3 + \beta v_4) + F_4(\gamma v_3 + \delta v_4).
\end{aligned}$$

From (12)–(17),

$$\begin{aligned}
(18) \quad w_1 \alpha &= -\alpha^2 b_3 - \alpha \beta d_3 - \beta \alpha c_3 - \beta^2 e_3 + B_3 \alpha + B_4 \gamma, \\
w_2 \alpha &= -\alpha \gamma b_3 - \alpha \delta d_3 - \beta \gamma c_3 - \beta \delta e_3 + D_3 \alpha + D_4 \gamma, \\
w_3 \alpha &= \alpha^2 b_1 + \alpha \beta d_1 + \beta \alpha c_1 + \beta^2 e_1 - B_1 \alpha - B_2 \gamma, \\
w_4 \alpha &= \alpha \gamma b_1 + \beta \gamma d_1 + \alpha \delta c_1 + \delta \beta e_1 - C_1 \alpha - C_2 \gamma, \\
w_1 \beta &= -\alpha^2 b_4 - \alpha \beta d_4 - \beta \alpha c_4 - \beta^2 e_4 + B_3 \beta + B_4 \delta, \\
w_2 \beta &= -\alpha \gamma b_4 - \alpha \delta d_4 - \beta \gamma c_4 - \beta \delta e_4 + D_3 \beta + D_4 \delta, \\
w_3 \beta &= \alpha^2 b_2 + \alpha \beta d_2 + \beta \alpha c_2 + \beta^2 e_2 - B_1 \beta - B_2 \delta, \\
w_4 \beta &= \alpha \gamma b_2 + \beta \gamma d_2 + \alpha \delta c_2 + \delta \beta e_2 - C_1 \beta - C_2 \delta, \\
w_1 \gamma &= -\alpha \gamma b_3 - \beta \gamma d_3 - \alpha \delta c_3 - \beta \delta e_3 + C_3 \alpha + C_4 \gamma, \\
w_2 \gamma &= -\gamma^2 b_3 - \gamma \delta d_3 - \gamma \delta c_3 - \delta^2 e_3 + E_3 \alpha + E_4 \gamma, \\
w_3 \gamma &= \alpha \gamma b_1 + \alpha \delta d_1 + \beta \gamma c_1 + \beta \delta e_1 - D_1 \alpha - D_2 \gamma, \\
w_4 \gamma &= \gamma^2 b_1 + \gamma \delta d_1 + \gamma \delta c_1 + \delta^2 e_1 - E_1 \alpha - E_2 \gamma, \\
w_1 \delta &= -\alpha \gamma b_4 - \beta \gamma d_4 - \alpha \delta c_4 - \beta \delta e_4 + C_3 \beta + C_4 \delta, \\
w_2 \delta &= -\gamma^2 b_4 - \gamma \delta d_4 - \gamma \delta c_4 - \delta^2 e_4 + E_3 \beta + E_4 \delta, \\
w_3 \delta &= \alpha \gamma b_2 + \alpha \delta d_2 + \beta \gamma c_2 + \beta \delta e_2 - D_1 \beta - D_2 \delta, \\
w_4 \delta &= \gamma^2 b_2 + \gamma \delta d_2 + \gamma \delta c_2 + \delta^2 e_2 - E_1 \beta - E_2 \delta;
\end{aligned}$$

$$\begin{aligned}
(19) \quad w_1\gamma - w_2\alpha &= \beta\gamma a_1 - \alpha\delta a_1 + A_1\alpha + A_2\gamma, \\
w_1\delta - w_2\beta &= \beta\gamma a_2 - \alpha\delta a_2 + A_1\beta + A_2\delta, \\
w_3\gamma - w_4\alpha &= \beta\gamma f_3 - \alpha\delta f_3 + F_3\alpha + F_4\gamma, \\
w_3\delta - w_4\beta &= \beta\gamma f_4 - \alpha\delta f_4 + F_3\beta + F_4\delta;
\end{aligned}$$

$$\begin{aligned}
(20) \quad (\alpha\delta - \beta\gamma)f_1 &= \alpha F_1 + \gamma F_2, \\
(\alpha\delta - \beta\gamma)f_2 &= \beta F_1 + \delta F_2.
\end{aligned}$$

From (18), we obtain

$$\begin{aligned}
(21) \quad w_1\gamma - w_2\alpha &= -\beta\gamma d_3 + \alpha\delta d_3 - \alpha\delta c_3 + \beta\gamma c_3 + c_3\alpha - \\
&\quad - D_3\alpha + C_4\gamma - D_4\gamma, \\
w_1\delta - w_2\beta &= -\beta\gamma d_4 + \alpha\delta d_4 - \alpha\delta c_4 + \beta\gamma c_4 + c_3\beta - \\
&\quad - D_3\beta + C_4\delta - D_4\delta, \\
w_3\gamma - w_4\alpha &= \alpha\delta d_1 - \beta\gamma d_1 + \beta\gamma c_1 - \alpha\delta c_1 - D_1\alpha + \\
&\quad + C_1\alpha - D_2\gamma + C_2\gamma, \\
w_3\delta - w_4\beta &= \alpha\delta d_2 - \beta\gamma d_2 + \beta\gamma c_2 - \alpha\delta c_2 - D_1\beta + \\
&\quad + C_1\beta - D_2\delta + C_2\delta.
\end{aligned}$$

Multiplying the first equations in (19) and (21) by  $\delta$ , the second ones by  $\gamma$ , the third ones by  $\beta$  and the fourth ones by  $\alpha$  resp., we get

$$\begin{aligned}
(22) \quad \delta(\beta\gamma - \alpha\delta) a_1 + \alpha\delta A_1 + \gamma\delta A_2 &= \delta(\alpha\delta - \beta\gamma) d_3 + \\
&\quad + \delta(\beta\gamma - \alpha\delta) c_3 + \alpha\delta(C_3 - D_3) + \gamma\delta(C_4 - D_4), \\
\gamma(\beta\gamma - \alpha\delta) a_2 + \beta\gamma A_1 + \gamma\delta A_2 &= \gamma(\alpha\delta - \beta\gamma) d_4 + \\
&\quad + \gamma(\beta\gamma - \alpha\delta) c_4 + \beta\gamma(C_3 - D_3) + \gamma\delta(C_4 - D_4), \\
\beta(\beta\gamma - \alpha\delta) f_3 + \alpha\beta F_3 + \beta\gamma F_4 &= \beta(\alpha\delta - \beta\gamma) d_1 + \\
&\quad + \beta(\beta\gamma - \alpha\delta) c_1 - \alpha\beta(C_1 - D_1) + \beta\gamma(C_2 - D_2), \\
\alpha(\beta\gamma - \alpha\delta) f_4 + \alpha\beta F_3 + \alpha\delta F_4 &= \alpha(\alpha\delta - \beta\gamma) d_2 + \\
&\quad + \alpha(\beta\gamma - \alpha\delta) c_2 - \alpha\beta(C_1 - D_1) + \alpha\delta(C_2 - D_2)
\end{aligned}$$

and

$$\begin{aligned}
(23) \quad A_1 + D_3 - C_3 &= \delta(a_1 + d_3 - e_3) - \gamma(a_2 + d_4 - c_2), \\
F_4 + D_2 - C_2 &= \alpha(f_4 + d_2 - c_2) - \beta(f_3 + d_1 - c_1).
\end{aligned}$$

Analogously, multiplying the first equations in (19) and (21) by  $\beta$ , the second ones by  $\alpha$ , the third ones by  $\delta$  and the fourth ones by  $\gamma$  resp. we get

$$\begin{aligned}
 (24) \quad & \beta(\beta\gamma - \alpha\delta) a_1 + \beta\alpha A_1 + \beta\gamma A_2 = \beta(\alpha\delta - \beta\gamma) d_3 + \\
 & + \beta(\beta\gamma - \alpha\delta) c_3 + \beta\alpha(C_3 - D_3) + \beta\gamma(C_4 - D_4), \\
 & \alpha(\beta\gamma - \alpha\delta) a_2 + \alpha\beta A_1 + \alpha\delta A_2 = \alpha(\alpha\delta - \beta\gamma) d_4 + \\
 & + \alpha(\beta\gamma - \alpha\delta) c_4 + \alpha\beta(C_3 - D_3) + \alpha\delta(C_4 - D_4), \\
 & \delta(\beta\gamma - \alpha\delta) f_3 + \alpha\delta F_3 + \gamma\delta F_4 = \delta(\alpha\delta - \beta\gamma) d_1 + \\
 & + \delta(\beta\gamma - \alpha\delta) c_1 + \alpha\delta(C_1 - D_1) + \gamma\delta(C_2 - D_2), \\
 & \gamma(\beta\gamma - \alpha\delta) f_4 + \beta\gamma F_3 + \gamma\delta F_4 = \gamma(\alpha\delta - \beta\gamma) d_2 + \\
 & + \gamma(\beta\gamma - \alpha\delta) c_2 + \beta\gamma(C_1 - D_1) + \gamma\delta(C_2 - D_2)
 \end{aligned}$$

and

$$\begin{aligned}
 (25) \quad & A_2 + D_4 - C_4 = \alpha(a_2 + d_4 - c_4) - \beta(a_1 + d_3 - c_3), \\
 & F_3 + D_1 - C_1 = \delta(f_3 + d_1 - c_1) - \gamma(f_4 + d_2 - c_2).
 \end{aligned}$$

Thus we see that we may choose the frames  $\{w_1, w_2, w_3, w_4\}$  in such a way that

$$(26) \quad A_1 + D_3 - C_3 = F_4 + D_2 - C_2 = 0.$$

Suppose that the frames  $\{v_1, v_2, v_3, v_4\}$  have been chosen in this way, too. Then

$$(27) \quad a_1 + d_3 - c_3 = f_4 + d_2 - c_2 = 0$$

From (23) and (25),

$$\begin{aligned}
 (28) \quad & 0 = -\gamma(a_2 + d_4 - c_4), \\
 & A_2 + D_4 - C_4 = \alpha(a_2 + d_4 - c_4), \\
 & 0 = -\beta(f_3 + d_1 - c_1), \\
 & F_3 + D_1 - C_1 = \delta(f_3 + d_1 - c_1).
 \end{aligned}$$

The functions  $a_2 + d_4 - c_4, f_3 + d_1 - c_1$  are thus relative invariants. Let us restrict ourselves to the "general" case

$$(29) \quad a_2 + d_4 - c_4 \neq 0, \quad f_3 + d_1 - c_1 \neq 0.$$

Then it is possible to choose the frames in such a way that

$$(30) \quad a_2 + d_4 - c_4 = 1, \quad f_3 + d_1 - c_1 = 1.$$



Restricting ourselves to the frames satisfying (27) and (30), we get

$$(31) \quad \alpha = 1, \quad \beta = 0, \quad \gamma = 0, \quad \delta = 1,$$

i.e., the conditions (27) and (30) determine exactly one field of frames  $\{v_i\}$ . In other words, the conditions (27) and (30) reduce our original  $G$ -structure to an  $\{e\}$ -structure. For this  $\{e\}$ -structure,  $a_1, a_2, b_1, \dots, b_4, c_1, \dots, c_4, e_1, \dots, e_4, f_1, \dots, f_4$  are the invariants;  $d_1, \dots, d_4$  are given by (27) and (30). Now, it is easy to see the following

**Theorem.** *In  $\mathbb{C}^2$ , be given a transitive congruence  $\mathcal{L}$  of surfaces. Considering the associated  $G$ -structure, we may reduce it to an  $\{e\}$ -structure given by (4) with  $a_1, \dots, f_4 = \text{const.}$ , (27), (30) and*

$$(32) \quad \begin{aligned} d_3b_1 + d_4c_1 - b_3d_1 - b_4e_1 - a_2d_1 + a_1e_2 &= 0, \\ d_3b_2 + d_4c_2 - b_3d_2 - b_4e_2 + b_1a_2 - a_1b_2 &= 0, \\ d_4c_3 - b_4e_3 - d_3e_2 - a_1b_3 &= 0, \\ d_3b_4 + d_4c_4 - b_3d_4 - b_4e_4 - d_4a_2 - a_1b_4 &= 0, \\ e_3b_1 + e_4c_1 - c_3d_1 - c_4e_1 - e_1a_2 + e_2a_1 &= 0, \\ e_3b_2 + e_4c_2 - c_3d_2 - c_4e_2 + c_1a_2 - a_1c_2 &= 0, \\ e_3b_3 + e_4c_3 - c_3d_3 - c_4e_3 - e_3a_2 - a_1c_3 &= 0, \\ e_3b_4 - c_3d_4 - e_4a_2 - a_1c_4 &= 0, \\ f_3b_1 + f_4c_1 + c_2d_1 - c_4f_1 - b_2e_1 - b_3f_1 + f_2a_1 &= 0, \\ f_3b_2 + f_4c_2 + c_1b_2 + c_2d_2 - c_4f_2 - b_1c_2 - b_2e_2 - b_3f_2 + f_2a_2 &= 0, \\ f_4c_3 + c_1b_3 + c_2d_3 - c_4f_3 - b_1c_3 - b_2e_3 &= 0, \\ f_3b_4 + c_1b_4 + c_2d_4 - b_1c_4 - b_2e_4 - b_3f_4 &= 0, \\ f_3d_1 + f_4e_1 + e_1b_1 + e_2d_1 - e_4f_1 - d_1c_1 - d_2e_1 - d_3f_1 - a_1f_1 &= 0, \\ f_3d_2 + f_4e_2 + e_1b_2 - e_4f_2 - d_1c_2 - d_3f_2 - f_1a_2 &= 0, \\ f_4e_3 + e_1b_3 + e_2d_3 - e_4f_3 - d_1c_3 - d_2e_3 &= 0, \\ f_3d_4 + e_1b_4 + e_2d_4 - d_1c_4 - d_2e_4 + d_3f_3 &= 0. \end{aligned}$$

#### Bibliography

- [1] A. Švec: On a group of holomorphic transformations in  $\mathcal{C}^2$ . Czech. Math. J., 24 (99), 1974, 97–106.

*Author's address:* Department of Geometry, MTC, Cairo (E.A.R.).